
Adding Doubles Strategy (F)Use an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 918 + 17 = 25 + 25 = 12 + 13 = 
23 + 21 = 16 + 17 = 4 + 2 = 
26 + 28 = 11 + 11 = 3 + 3 = 
10 + 10 = 5 + 4 = 24 + 23 = 
30 + 32 = 8 + 7 = 3 + 1 = 
28 + 27 = 9 + 10 = 18 + 19 = 
15 + 13 = 15 + 15 = 7 + 5 = 
22 + 22 = 28 + 29 = 8 + 8 = 
24 + 25 = 29 + 31 = 6 + 6 = 
14 + 16 = 22 + 20 = 20 + 19 = 
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Adding Doubles Strategy (F) AnswersUse an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 918 + 17 = 25 + 25 = 12 + 13 =18 + 18 - 1 = 35 25 + 25 = 50 12 + 12 + 1 = 2536 - 1 = 35 24 + 1 = 2523 + 21 = 16 + 17 = 4 + 2 =23 + 23 - 2 = 44 16 + 16 + 1 = 33 4 + 4 - 2 = 646 - 2 = 44 32 + 1 = 33 8 - 2 = 626 + 28 = 11 + 11 = 3 + 3 =26 + 26 + 2 = 54 11 + 11 = 22 3 + 3 = 652 + 2 = 5410 + 10 = 5 + 4 = 24 + 23 =10 + 10 = 20 5 + 5 - 1 = 9 24 + 24 - 1 = 4710 - 1 = 9 48 - 1 = 4730 + 32 = 8 + 7 = 3 + 1 =30 + 30 + 2 = 62 8 + 8 - 1 = 15 3 + 3 - 2 = 460 + 2 = 62 16 - 1 = 15 6 - 2 = 428 + 27 = 9 + 10 = 18 + 19 =28 + 28 - 1 = 55 9 + 9 + 1 = 19 18 + 18 + 1 = 3756 - 1 = 55 18 + 1 = 19 36 + 1 = 3715 + 13 = 15 + 15 = 7 + 5 =15 + 15 - 2 = 28 15 + 15 = 30 7 + 7 - 2 = 1230 - 2 = 28 14 - 2 = 1222 + 22 = 28 + 29 = 8 + 8 =22 + 22 = 44 28 + 28 + 1 = 57 8 + 8 = 1656 + 1 = 5724 + 25 = 29 + 31 = 6 + 6 =24 + 24 + 1 = 49 29 + 29 + 2 = 60 6 + 6 = 1248 + 1 = 49 58 + 2 = 6014 + 16 = 22 + 20 = 20 + 19 =14 + 14 + 2 = 30 22 + 22 - 2 = 42 20 + 20 - 1 = 3928 + 2 = 30 44 - 2 = 42 40 - 1 = 39Math-Drills.Com


